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  M.M- 70
GENERAL INSTRUCTIONS:
  1 All questions are compulsory.                                                      
 2.Question number 1 to 8 are very short answer rquestions,carry 1 mark each
 3.Question number  9 to 18 are short answer questions,carry 2 marks each 

 4 Qquestion number 19 to 27 are also short answer questions,carry 3 marks each.

 5 Question number 28 to 30 are long answer questions carry 5 marks.
1.  Write IUPAC name of the following compound:                                                       [1]

CH3---CH---- C—CH2 ---CH—CH3
[image: image1.png]                       ║    

           CH3       O                          Br  
2.   Which of the following pair will react faster towards nucleophillic substitution reaction?

CH2═CH           Cl and    CH2═CH ─CH2Cl                                                         [1]

  3. Draw the structure of  3-Hydroxyhexanedioic acid                                            [1]

  4. What is meant by inversion of sugar?                                                               [1]

 5.  What is meant by Racemic mixture?                                                                  [1]

 6. Why are Freons harmful for the atmosphere?                                                   [1]

 7.  Why is Sulphuric acid not used during the reactions of Alcohols with KI?           [1]

  8.  Write two main functions of Carbohydrates in plants.                                   [1]

 9. Explain why a) Dipole moment of chlorobenzene is lower than that of cyclohexyl chloride.

b)Alkylhalides , though polar,are immiscible in water.                                           [2] 

10. a)Grignardreagent should be prepared under anhydrous conditions. Explain.         [2]

b)p-dichlorobenzene has higher melting point than o-and m- isomer. Why?   

11.Accountfor the following :                                                                                               [2]

     a) Alkyl halides undergo nucleophilic substitution reactions.

     b) Ortho-nitrophenol is less soluble in water than para-nitrophenol.

12.  Arrange the following in order of acidic character giving reason:                                  [2]

HCOOH , ClCH2COOH , CF3COOH , C6H5COOH

13.  .(I) What is meant by the term ‘broad spectrum antibiotics’ ? 
       (ii) How do antiseptics differ from disinfectants? Give one example of each.               [2]

14. Name the reagents used in the following reactions:

   i) Oxidation of Primary alcohol to carboxylic acid, ii) Dehydration of 2-propanol to 2-Propanone                 [2]

.

15. a)Why do Phenols not give protonation reactions readily ?                                                      [2]

     b)How can Iodoform be prepared from Ethanol ?Write the main reacting species in this reaction.

 16.  What is Lucas reagent? Where is it used? Write the reactions  involved therein.              [2]

  17.a)  Ortho- and para-nitrophenols are more acidic than Phenols.                                    [2]

       b)   Explain why Phenol has much lower pka value than Ethanol.

 18..   Distinguish chemically between the following -                                                          [2]

          i) Phenol and Methanol   ii) Ethanol and 1, 1-dimethylethanol.  

 19.  Account for the following:                                                                                                  [3]

        i) Phenol has higher boiling point than Toluene    ii) Phenols are more acidic than alcohols

iii) The boiling point of ethers is much lower than those of alcohols of comparable molar masses.

20. a) Explain what is meant by- i) Peptide linkage ii) Glycosidic linkage                               [3]

     b) Name two water soluble vitamins, their sources and the diseases caused due to their deficiency 

          in diet.

   21.   a) Name the deficiency disease due to vitamin C                                                     [3]          

      b) Name one anionic detergent and its use.

      c) Name one drug which is used in controlling depression and hypertension. 

22.   a) Write structural differences between DNA and RNA. Write down the structure of a          [3]

             Nucleotide.

     b)  What is meant by denaturizing of proteins?

     c) Which forces are responsible for the stability of α-helix? Why it is named as 3.613helix?

                                                    OR

Write short notes on the following                                                                                        [3]

Isoelectric point. b) t-RNA, c) Cyclic structures of glucose and fructose.

23.  Explain :

  a)  20 and 30 amines can not be prepared by Gabriel Pthalimide synthesis.               [3]

b) Isocyanides are not soluble in water.

c) Bromination of aniline can not be controlled easily.

24. Give reasons :                                                                                                              [3]

a)Ethyl amine is soluble in water but aniline is not.

   b)Aniline does not undergo Friedel Craft reaction.

     c) Diazonium salts of aromatic amines are more stable than aliphatic amines. 

25. a) How can you differentiate between addition and condensation polymerization?    [3]

      b) Write the monomers used for getting the following polymers :

         i) Teflon , ii) Bakelite.

     c) Discuss the main purpose of vulcanization of rubber.

26. a) What problem arises in using alitame as artificial sweetner ?                                [3]

      b) Which forces are involved in the drugs to the active site of enzymes?

      c) What are the consequences of using excess of detergents?

27. a) Justify the number of  chiral centre/ centres of the following compound :            [3]

                                           CHO

                           OH                       H

                     H                          OH

                                   H                           H

                                                   CH2OH

    b)   How inversion and retention of configurations occur in substitution reactions ?

 28.   a)   There are two –NH2 groups in semicarbazide,however,only one is involved in the  [5]

 formation of semicarbazones.

b) Fluorine is more electronegative than chlorine even then,p-fluorobenzoic acid is a 

weaker base than p-chlorobenzoic acid.

c) Carboxyllic acids do not give the characteristic reactions of carbonyl group.

d) Carboxyllic acid is much stronger than phenol though phenolate ion has much 

 more resonating structures than carboxylate ion.

e)  Aldehydes are more reactive than ketones in nucleophilic readtions.

                                                           OR

  a) Write short notes on i) Woolf-Kishner reduction, ii) Cannizaro reaction, iii) Stephens    reaction.                                                                                                              [5]

   b)  Distinguish between the following pairs with the help of suitable chemical test:

             i) Acetone and Benzophenone, ii) Formaldehyde and acetaldehyde.                               

   29.                                                               O

                                                                       ║

     a) Convert C6H5CHO to C6H5CH═CH----C--- C6H5
     b) Compound X with molecular formula C9H10O forms a semicarbazone and give negative  Tollen,s reagent  and Iodoform tests. Upon Clemenson reduction it gives n-propyl benzene.  Deduce structure of X and write the reactions involved.                                           [5]                                                                                                        
                                                          OR

       Predict the products of the following reactions :             NH2                                          [5]

                                 O

                                                     

    i)                                   +                      NO2                         NH ----NH2 →

                               COCH3
    ii)                                           i) KMnO4/ KOH


     CH3                                   ii) dil. H2SO4
              O

                                                   [Ag(NH3)2] +

iii)        

                                 CHO

                                                    NaBH4
iv)       CH3COCH2COOC2H5          

                                                      H +   

v)         C6H5N2Cl      +  C2H5OH

30.    a) Write short notes on :                                                                                          [5]

             i) Coupling reaction;   ii) Iodoform reaction.

         b)  Benzoic acid does not undergo Friedel Craft reaction. Why?

         c)   How will you bring out the following conversions?

               i)  Benzaldehyde to Benzophenone.

               ii) CH3MgX  to CH3COCH3
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